(8)

() Give an assessment of the Government
policy towards foreign investment. 10

mwﬁ?ﬁﬁmmmmmﬁ@?aﬁ
SEURE STIRCTT |

(g) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. : 6+4=10

ot R Rfw PP g |
wﬁwﬁw«mﬁgﬁwmn

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural
productivity. 6+4=10
@y IR A7 TeoeR FRPER IrA 4
R Teormmerer A A e ommed
faam AL

(i) Discuss the role of public sector
industries in the economic development

of India. : 10
Sed ST tme el 994 Tea
! e 1 |

() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10
RS Aef R 7 SRS FATS sy oS
AT 41 |
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for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

wmﬁaﬁ@mwﬁnwm:

(a) Mention one objective of Indian fiscal
policy.
SR TSR A b1 ey Tewd F91
(p) What is repo rate of the RBI?
SR fwré @ @' W &7
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(c)

(@

(e)

(9

(h)

)

o
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State one direct instrument of Indian
monetary policy.
SR Y@ b1 e Sfen Tad 9 |

What is meant by financial inclusion’?
‘R TEgERI’ TeA & 38 IW 2

Give the meaning of Foreign Direct
Investment’.

‘orors (qrie Rivcer’s sy foren |

What is capital formation in

~ agriculture?

RS Fore 5 & 2

Give the meaning of ‘minimum support
price’ of agricultural produce.

FRETS AT ey W Fo'q e fore |

State one reason for the growth of
service sector in India recently.

ST TS RO CRINGT RIFP[ 9o F199
TER 9|

What is agricultural productivity?
3T Teemaerel % 2

Mention one method of public sector
disinvestment.

qreraT 999 ARfAcTEm GO e Sy 4 |

( Continued )
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(k) Define the concept of ‘sustainable
agriculture’.
TN PR YRACOR e fa |

() What is diversification of industries?
Sruifas foreae %2

(m) State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.
358 B T BIFICA HT6 F AN TR
wi%q @1 ol Soaey BeEy 911

(n) What kind of manufacturers are called
small-scale industries?
& @R Seomee FEFres Toams I @R
A7

(o) Define monetary policy.
e e sige i |

Answer any five from the following questions

in brief : L

wor T 2pprRe R e Ao oy T il :

(a) Distinguish between fiscal deficit and

primary deficit. ‘
ey W e aiefie oy TEe AL
g a1

( Turn Over )
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()

(c)

(@

(e)
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Write two characteristics of small-scale
industries.

pg TraIe o1 PRy for |

Write two merits of GST.
GST 3 o1 Ryt for |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy. ;

Ragreed 7 oR@w wdRifve Rumesm b
AP Ao Towrs 7911

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

IR 7T IR T AW SO I A
391 R e Y1 owet ford |

Tertiary sector in India employs two
different kinds of people. Who are
they?

SReT CRINeE P e @ e e

I | (OSER (F ?

( Continued )

(5)

(g) Mention two objectives of the National
Competition Policy of India.

sRed 3B ffenEe et o S
ToE 7901

(h) State any two problems of Public Sector
Enterprise of India.

SRR IR 197 Traed R @A 1 e

ey ¥4 |
3. Answer any four from the following
questions : 5x4=20
wer e e R e wifker Tes fm -

(a) Explain any five instruments of fiscal
policy in India.
SReA AT AT R e <Avdr s
[RIFA1

(b) Discuss the tools of monetary policy
of India.

TRE] AT HRAPRZ T 41 |

(c) Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

@ eSeRe Beorfie A The 3w
AfFreTeR e BN G-I AOBPHR T
el
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(@)

(e)

(9)

()
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Point out the various labour policies
of India.

wed RS =W AR gl frar |

Workers are  exploited in  the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

RS qeg AR oS =W PR @
TS 22 P ? NN Tew LTS &
fiam |

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

PRT TP 52 o8 FRe RN
BN 101 740 |

Discuss the role of small-scale
industries in Indian economy.

WW@W?&W?@WW
9

Point out the main features of Indian
tax system.

SIS T3 I 7 (FEPAR gy i
( Continued )

e ~
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4. Answer any four from the following

questions : 10x4=40

wers R ey R e wifor T fid :

(a) Critically discuss the role of agriculture
in the economy of India. 10
sy weAfe FRT PR TCAGTLTrS
S{ICEADT 4T |

(b) Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SRed Y SCUPERY TRl S RIS
ToTPTR ST 41 |

() What is service sector? Analyze the
performance of service sector of India

during post 1990’s. 2+8=10
cARe B2 ssvo TN Pie ST CRIRSI
ey e e 30 |

(d) Explain the role of foreign investment
in the economy of India. 10
oSy s e AR g I
A o

(e) Give an outline of the various
macroeconomic policies of India. 10
ICIGICk ﬁm ﬂﬂmﬂlﬁ' Ao AST 8oTe
AR 41 |

| ( Turn Over )
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